
M3x131

ZL 20010811 15:25

S40827

R120828

4081646814A

46864

46844F

S40813

40845

12819X

S40601

S40602

S40615

12114

91137X

80841

12118

46825F

46616 

46609

S40801F

28134(2)

S40210

80841 12114

S40603

S40118

400160

40204

S40111

S40102

40134(4)

40213
40207

40208

1019

S40120(2)

S40219

40220

40221
S40101X

S91109

S91225

80841(2)

S40112(2)

S40103

S40202

S40801F

40120(6)

S40201

S40203

S4086346407

46837F

46866

40228

12847
S32868F

12833

46860F

46845F

46407

46829F

S40874F

12819X

12114

12847

91137X
12862

12830

46114F 46871F

91137XS40873F

S40870F

S40874F

80841(2)

28123(2)

3

S40872F

46861F

S40803F

MAGNUM XL 40AⅡ-S ENGINE EXPLODED PARTS VIEW

40110

E46611

61902/P6

R6RS

3

M3x3

3

3

1x4

M3x14

M3x12

M3x40

M3x8

M3

M3x6

M3x3

S40416 Gasket Set S40112(2) S40111(1) 
S40901 Screw Set 40120(6) 40134(4)

128451284546845F46845F128451284546861F

Copyright 2018 G Hobby 

Magnum XLS40 Two Stroke Exploded View


